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Trapezium (समलम्बचतुरुु्ज):

𝑨𝒓𝒆𝒂 =
𝟏

𝟐
𝐀𝐁 + 𝐂𝐃 × 𝒉 

= 𝑬𝑭 × 𝒉 

E F
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Find the area of the following trapeziums:

10 10

12

22

15 20
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35

15 20

28

35



The ratio of the length of the parallel 
sides of a trapezium is 3:2. The 
shortest distance between them is 15 
cm. If the area of the trapezium is 
450 𝒄𝒎𝟐, the length of the larger of 
the parallel sides is
किसी समलम्ब चतरु्ुजु िी समान्तर
र्जुाओं िा अनपुात 3:2 है| इन
र्जुाओं िे बीच िी न्यनूतम दरूी
15cm है| अगर इस चतुर्ुजु िा
के्षत्रफल 450 𝒄𝒎𝟐 है तो दोनों समान्तर
र्जुाओं में से बड़ी र्जुा िी लम्बाई
पता िरें|
a) 18 cm  b) 36 cm 
c) 12 cm  d) 9 cm

4M 2D (trapez) b 



The length of the line formed by 
joining the mid points of non-
parallel sides of a trapezium is 
40cm and the shortest distance 
between parallel sides is 12 cm. 
Find the area of trapezium.
किसी समलम्ब चतुर्ुजु िी
असमांतर र्जुाओं िे मध्य
बबन्दओंु िो ममलाने वाली रेखा
िी लम्बाई 40cm है और
समान्तर र्जुाओं िे बीच िी
लम्ब दरूी 12cm है| इस चतुर्ुजु
िा के्षत्रफल पता िरें|
a) 480         b) 240        
c) 400     d) 960

5M 2D (trapez) a 



𝑨𝑩𝑪𝑫 is a trapezium with AD and BC 
parallel sides. E is a point on AD. The 
ratio of the area of 𝑨𝑩𝑪𝑫 to that of 
𝑩𝑬𝑪 is:
𝑨𝑩𝑪𝑫  एि समलम्ब चतुर्ुजु है जजसिी
र्जुाएं AD और BC समान्तर हैं| E र्जुा
AD पर एि बबदंु है| 𝑨𝑩𝑪𝑫 और 𝑩𝑬𝑪 िे
के्षत्रफल िा अनपुात पता िरो|
a)

𝑨𝑫

𝑩𝑪
   b)

𝑩𝑬

𝑬𝑪
  

c)
𝑨𝑫+𝑩𝑬

𝑨𝑫+𝑬𝑪
  d)

𝑨𝑫+𝑩𝑪

𝑩𝑪

6M 2D (trapez) d 



𝑨𝑩𝑪𝑫  is a trapezium in 
which AB is parallel to DC, 
𝑨𝑩 = 𝟔 𝒄𝒎, and ∠𝑨𝑭𝑬 =
∠𝑩𝑬𝑪. If two lines AF and 
BE are drawn so that area of 
𝑨𝑩𝑬𝑭 is half of ABCD. Find 
the length of CD.
𝑨𝑩𝑪𝑫 एि समलम्ब चतुर्ुजु है
जजसिी र्ुजा AB र्ुजा 𝑫𝑪 िे
समान्तर है, 𝑨𝑩 = 𝟔 𝒄𝒎 और 
∠𝑨𝑭𝑬 = ∠𝑩𝑬𝑪 है| अगर दो
रेखाएं AF और BE इस प्रिार बनाई
जाती हैं कि 𝑨𝑩𝑬𝑭 िा क्षेत्रफल  
ABCD िे क्षेत्रफल से आधा है तो 
CD िी लम्बाई पता िीजजये|
a) 12 cm b) 18 cm
c) 6 cm d) 15 cm

7M 2D (trapez) b 
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In a trapezium ABCD, AB and DC are 
parallel sides and ∠ADC = 90°. If 𝑨𝑩 =
 𝟏𝟓 𝒄𝒎, 𝑪𝑫 =  𝟒𝟎 𝒄𝒎 and diagonal AC 
= 41 cm. Then the area of the trapezium 
ABCD is
एि समलम्ब ABCD में AB और DC 
समान्तर र्जुाएं है और ∠ADC = 90° है l
यदद 𝑨𝑩 =  𝟏𝟓 से.मी., 𝑪𝑫 =  𝟒𝟎 से.मी.
और वविर्ु 𝑨𝑪 =  𝟒𝟏 से. मी. है तो उस
समलम्ब ABCD िा के्षत्रफल बताइए
a) 245 𝒄𝒎𝟐  b) 240 𝒄𝒎𝟐  
c) 247.5 𝒄𝒎𝟐    d) 250 𝒄𝒎𝟐

CGL 2016 T-2M 2D (trapez) c 
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The area of an isosceles trapezium is 176 

𝒄𝒎𝟐 and the height is
𝟐

𝟏𝟏
𝒕𝒉 of the sum of 

its parallel sides. If the ratio of the length 
of the parallel sides is 𝟒: 𝟕 , then the 
length of a diagonal (in cm) is
एि सम्दोर्जूी समलम्ब चतुर्ुजु िा
के्षत्रफल 176 𝒄𝒎𝟐  है और इसिी ऊंचाई
इसिी समान्तर र्जुाओं िे जोड़ िे 𝟐

𝟏𝟏
 िे

समान है| अगर समान्तर र्जुाओ िी
लम्बाई िा अनपुात 𝟒: 𝟕 है, तो इसिे
वविर्ु िी लम्बाई पता िरो|
a) 𝟒 𝟏𝟑𝟕  b) 𝟏𝟑𝟕 

c) 2 𝟏𝟑𝟕       d) 24

CGL 2015 T-2M 2D (trapez) c 



The length of parallel sides of a trapezium is in 
ratio 1:3  while non-parallel sides ratio is 2:3. 
If the ratio of length of larger parallel side to 
the larger non-parallel side is 2:1 and height is
𝟏𝟓 𝟏𝟓

𝟒
. Find the area of the trapezium. 

एि समलम्ब िी दो समांतर र्जुाओं िी लंबाई
िा अनपुात 1:3 है, जबकि गैर-समानातंर
र्जुाओं िा अनपुात 2:3 है| यदद बड़ी
समानातंर र्जुा और बड़ी गैर-समानांतर र्जुा
िी लंबाई िा अनपुात 2:1 है और ऊंचाई 𝟏𝟓 𝟏𝟓

𝟒
है। समलम्ब िा के्षत्रफल ज्ञात िीजजए।
a) 𝟏𝟐𝟎 𝟏𝟓  b) 𝟏𝟑𝟎 𝟏𝟓  

c) 𝟏𝟓𝟎 𝟏𝟓  d) 𝟏𝟔𝟎 𝟏𝟓

10M 2D (trapez) c 
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An isosceles trapezium circumscribes 
a circle. One of the parallel sides of 
the trapezium is three times as long as 
other and its perimeter is 𝟒𝟎𝒄𝒎. Then 
area of the trapezium is ____ sq.cm.
एि समद्ववबाहु समलम्ब एि वतृ िो
घेरे हुए है। समलम्ब चतुर्ुजु िे
समानातंर पक्षों में से एि दसूरे िी
तुलना में तीन गुना लंबा है और इसिी
पररधध 𝟒𝟎𝒄𝒎 है। तो समलम्ब िा
के्षत्रफल ____ वगु सेमी है। 
a) 𝟓𝟎   b) 𝟓𝟎 𝟑 

c) 𝟓𝟎 𝟐  d) 𝟔𝟎                                    

M 2D (trapez) b 
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𝑨𝑩𝑪𝑫 is a trapezium with parallel 
sides 𝑨𝑩 = 𝟐𝒄𝒎 and 𝑫𝑪 = 𝟑 𝒄𝒎. 
E and F are the mid-points of the 
non-parallel sides. The ratio of area 
of 𝑨𝑩𝑭𝑬 to area of 𝑬𝑭𝑪𝑫 is:
ABCD एि समलम्ब चतुर्ुजु इस
प्रिार है कि 𝑨𝑩 = 𝟐𝒄𝒎 और 𝑫𝑪 =
𝟑 𝒄𝒎| E और F दोनों असमांतर
र्जुाओं िे मध्य बबदंु हैं| ABFE और
EFCD िे के्षत्रफल िा अनपुात है-
a) 𝟗: 𝟏𝟎  b) 𝟖: 𝟗 
c) 𝟗: 𝟏𝟏  d) 𝟏𝟏: 𝟗

CDS 2013 IM 2D (trapez) c 



In a trapezium ABCD, AB is parallel to 
CD. BD is perpendicular to AD. AC is 
perpendicular to BC. If 𝑨𝑫 = 𝟏𝟓 𝒄𝒎 
and 𝑨𝑩 = 𝟐𝟓 𝒄𝒎, then the area of the 
trapezium is:
एि समलम्ब चतुर्ुजु 𝑨𝑩𝑪𝑫 में AB
और CD समान्तर है BD AD पर और AC 
BC पर लम्बवत है, अगर 𝑨𝑫 = 𝟏𝟓 𝒄𝒎 
और 𝑨𝑩 = 𝟐𝟓 𝒄𝒎  तो समलम्ब ABCD
िा के्षत्रफल क्या है?
a) 192cm²  b) 172cm² 
c) 232cm²  d) None of these

15M 2D (trapez) a 
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The diagonals of a trapezium are at right 
angles and the slant sides, if produced, 
form an equilateral triangle with the 
greater of the two parallel sides. If the 
area of the trapezium is 16 sq cm, then 
the distance between the parallel side is 
किसी समलम्ब चतरु्ुजु िे वविर्ु एि
दसूरे िो 90 डिग्री पर िाटते हैं और
ततरछी र्जुाएं अगर बढायीं जाएँ तो वे एि
समर्जुी बत्रर्जु बनाते हैं जजसिी र्जुाएं
समान्तर र्जुाओं से बड़ी हैं| अगर
समलम्ब चतुर्ुजु िा के्षत्रफल 16 वगु cm
है तो दोनों समान्तर र्जुाओं िे बीच िी
दरुी क्या है?
a) 2 cm  b) 4 cm  
c) 8 cm  d) CND

CDS 2015 IM 2D (trapez) b 
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Trapezium (समलम्बचतुरुु्ज):
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Find the area of the following trapeziums:

A B

CD

O

𝟒 𝒄𝒎𝟐

𝟗 𝒄𝒎𝟐

A B

CD

O
𝟑𝒄𝒎𝟐

𝟔𝒄𝒎𝟐

A B

CD

O

𝟐𝒄𝒎

𝟏𝟓𝒄𝒎𝟐

𝟔𝒄𝒎

A B

CD

O

𝟐𝟖

𝟒𝟐

𝟏𝟓𝟏𝟑  
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In the given figure, ABCD is a 
square and E is the mid point of 
DC. What is the ratio of areas of 
shaded and unshaded portion?
दी गयी आिृतत में, ABCD एि वगु
है और बबदंु E र्जुा DC िा मध्य
बबदंु है| छायाकंित और गैर-
छायांकित र्ाग िे के्षत्रफल िा
अनपुात बताइए? 
a) 𝟏: 𝟑    b) 𝟐: 𝟑     
c) 𝟏: 𝟐  d) 𝟑: 𝟒

M 2D (trapez) c 
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In the given figure, what 
fraction of the area of the 
parallelogram ABCD is shaded 
?
दी गयी आिृतत में, समातंर
चतुर्ुजु ABCD िा कितना र्ाग
छायांकित है?
a)

𝟏𝟏

𝟐𝟒
     b)

𝟏

𝟑
     

c)
𝟏𝟏

𝟏𝟖
        d)

𝟐

𝟓

M 2D (trapez) a 



𝑨𝑩𝑪𝑫 is a parallelogram. If the 

ratio of the area of quadrilateral 

𝑫𝑭𝑬𝑨 to the ∆𝑩𝑭𝑪 is 𝟏𝟗: 𝟏𝟐 

then what is the ratio of the 

area of ∆𝑭𝑪𝑫 to ∆𝑩𝑬𝑭 ?

𝑨𝑩𝑪𝑫 एि समातंर चतुर्ुजु है|
अगर चतुर्ुजु 𝑫𝑭𝑬𝑨 और
∆𝑩𝑭𝑪  िे के्षत्रफलों िा अनपुात
𝟏𝟗: 𝟏𝟐 है तो ∆𝑭𝑪𝑫 और ∆𝑩𝑬𝑭

िे क्षते्रफलों िा अनपुात क्या
होगा ?
a) 𝟐𝟓: 𝟏𝟔  b) 𝟏𝟔: 𝟗 

c) 𝟗: 𝟒  d) 𝟑𝟔: 𝟐𝟓 

21M 2D (trapez) b 
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In the given figure, the diagonals 
of trapezium ABCD intersect at O. 
Find the area of the shaded region 
according to the lengths of the 
sides mentioned in the figure.
दी गयी आिृतत में, एि समलम्ब
ABCD िे वविर्ु O पर प्रततच्छेद
िरते हैं। आिृतत में दर्ाुयी गयी
लम्बाई िे मान िे अनसुार
छायांकित र्ाग िा क्षेत्रफल ज्ञात
िरें|
a) 20   b) 30  
c) 40   d) 10

M 2D (trapez) c 



23

Kite (पतंग):

𝑨𝒓𝒆𝒂 =
𝟏

𝟐
 𝒅𝟏𝒅𝟐 
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